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$ip = 7.9x10 [kg/ m®]
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M-2BL0 A0 8 /10 G-2HO-K
Jx= o m(A+8)= < pABC(A'+B)=[kg m ] $8p = 2.8x10 [kg/m’]
M-4BLO A-O 11/13 12 10 G-4HO-K 30 10 18
Eni = . 1 k s
o L =iflp = 8.5410 [kg/m] M-5BLO A-C] 15/17 2.0 12 G-5HO-K 40 15 21
Jy=ﬁm(B +C )=ﬁpABC(B +C)=[kg-m] a0 = 1.1x10 [k s
ERep = 1.1x10 [kg/m’] M-6BLCI A-CJ 25/30 2.0 14 G-6HO-K 55 20 25
Jx = x BiE9IE 118 = [kg- m?]
Jy = y Bif9iE 18 = [kg-m?]
O BEEyE

JO = x0 Bl (EBEOAVE )
GEENSHAEERFEBEIERSHOME - D% (BSE) ®BR - REHBNEFEES - SHOERREEH
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m = B £ [kg]
D1 = §ME [m] B EHANESNER
Pe s AR VNl ERAEREL 550 30~50  100~200
Bearing FilE
p=EE[kg/m®]
L=EE [m] G-2HOI-K
Ly  CaHUK 81% 75% 70%
Ball G-5H-K

G-6HOI-K




